S

Q.1 In which year was declared India's capital Delhi?

A. 1910 B.1911 C.1912 D. 1913

Q.2 g af & T F e fRywh DNt forar mar?

A. 1910 B.1911 C.1912 D. 1913

Q.2 Which one of the following is not correctly matched?
A. Radcliffe line/ India and Pakistan

B. Maginot line - France and Germany

C. Durand line/ Bangladesh and India

D. Hindenburg line/ ERCUEY 24 - Belgium and Germanylmﬁa
HRd

Q.2 Frufifea & & #17 w1 el @ Aa 78 @rar 32
A. JZfFAHE A8 -URd Ud UTfersd=

B. HffHIe T - Wiy Ua St

C. gidll A1EH - JiAmeRT Ud ¥Rd

D. fESert wme - afcaw ¢a wRd

Q.3 Atomic power plant works on the principle of
A. Fission B. Fusion

C. Thermal combustion D. All the above

Q.3 WY FHoit WaA f5H Rigia W &1 #var 82
A fagsT  B. HoEd

C. i g D. 39 & gt

Q.4 The Liberhan commission is related to:
A. Fooder scam B. Babri Masjid demolition

C. Godhra scandal D. Reservation of minorities
Q.4 fRrae™ weitwr e wafta 82

A IRTERIE  B. S1&<) AfE faeg

D. 3IeUBIH] BT SR

Q.5 The first experimental satellite launched by India was-

C. MRT Pis

A. INSAT B. Aryabhatta

C. Bhaskara-l D. Rohini

Q.5 WIRA gRT Y& Ugar TR SUIE - T
A TT8C B, 3rfug

C. H&hR- | D. fguft

Q.6 The phenomenon of splitting white light into seven colours is
called__

A. Reflection B. Refraction

C. Refractive index D. Dispersion

Yashshree competition zone Nagpur

Q.6 T ¥ H fyuTira Wibe Ut Y e FET AT
A TRIEAA B, 3gad
C. 3Uade Yadie D, guf fyamur

Q.7 The Lok Sabha is called in session for at least how many
times in ayear?

(A) Twice (B) Once
(C) Thrice (D) Four times

gwﬁwm%maﬁwaﬁﬁmﬁmmmwmm
?

A A TR B. TH IR

C.d9ER D IRSTR

Q.8 Who was the last viceroy of freedom India ?
A. Lord Mountbatten B. Lord Canning

C. C. Rajgopalachari D. J. B. Kripalani

Q.8 WdF HIRT BT SifaH IHERT BT AT 2

A. T8 AIg<ded B, s BT

C. WIATMIAERT D, .. Fuamt

Q.9 From which animal is 'Rh' factor derived its ?
A. Monkey B. Dragon

C. Crane D. Gorilla

Q.9 'R HRS e uroft | ageus Y12
A S B.STH

C.9R¥ D. Miken

Q.10 What is the Full form of MOM?

A. Mars orbiter Mission  B. Mars of Mission
C. Mission of Mars  D. Mars or Mission
Q.10 MOM &T quf =1 T 872

A. T offfder fiem B, A offts i

c. firem oifp ud D, A 3R fimm

ANSWERS:-

Q.1(B) Q.2(C)
&)3 (A) Q.4(B) Q5(B) Q.6(D) Q.7(A) Q.8(C) Q.9(A) Q.10

Q.1. The temperate grasslands of South America are called
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(A) Downs (B) Steppes
(C) Prairies (D) Pampas

aféror efifvest & =ftaieor IRTET (TTERT) FY T Fed 87
(A) S99 (B) WU
(C) TR (D) Ty

Q.2. Contours are the lines which are drawn joining places having.
(A) equal air pressure

(B) equal temperature

(C) equal height from mean sea level (D) equal rainfall

T Y@ $/ T F e gu T ot @2

(A) 99 917 G a1t

(B) 9 YA a1t _

(C) T W% ad § 9H SHdTs ard
(D) T Nt gt

Q.3. Soil formed by leaching and oxidation is
(A) Red soil (B) Montane soil

(C) Black soil (D) Laterite soil

Framer ok enRftevor g1 fAfifa g1 o= <t @<t @2
(A) BTt forgt

Q.4. Which strait separates Australia and Tasmania?
(A) Palk

(B) Berring

(C) Bass

(D) Bab-el-Mandeb

DI AT AASHETH (TeQ) SRSRAT SR a=IfaT B 3T Heam 82
(A) UTH

(B) It

(C) o9

(D) S9T-H3T

Q.5. In plant-water relationships, symbol ’ is used to represent
(A) Solute potential

(B) Osmosis

(C) Osmotic pressure

(D) Water Potential

Urey-oie wael ¥ © yelle &1 yanT o1 =1 & g faram sirar 2
() faaa fava

(B) RRRUT (C) WRRIRUM g/@ (D) ot faya

Q.6. A molecule in plants comparable to haemoglobin in animals is
(A) Chlorophyll (B) Carotene (C) Cytochrome (D) Cellulose

oggaft # SErefae & Few diet § 1 7 0] gt 7

(A) TR (B) PRIfeA

(C) HTECIPIH (D) g™

Yashshree competition zone Nagpur

Q.7. An Antigen is

(A) the stimulus for Antibody formation
(B) the residue of an Antibody

(C) the result of Antibody

(D) The opposite of Antibody

yfes= =1 g1 87

(A) ufaRel fafor & foe S
(B) UfeReR FT 3faR
(C) wfcreft &1 R
(D) vferel & fausta

Q.8. Blood does not coagulate inside the body due to the presence
of

(A) Heparin (B) Fibrin

(C) Plasma (D) Haemoglobin

P! dieeit & SR IRR F fiaR T st T8 87
(A) BURA (B) BT
(C) WITSHT (D) BHFafa

Q.9. Leech is an octoparasite on cattle, which is
(A) Sanguivorous (B) Herbivorous
(C) Carnivorous (D) Omnivorous

S AR TR ST 9TeY URSid! giaT 82
(A)W(Bgm&ﬁ
ueft

(C) ArgHeRt (D)

Q.10. How many chambers does a mammalian heart have?

(A)2(B)3
(€)4 (D)1

o gt § W (@A) gea AT &
(A)2 (B) 3
(C)4 (D)1

ANSWER KEY:-

Q.1.(B) The temperate grasslands of South America are called
Pampas.

3ARPT F Mdrer urd e &) T Hed 21

Q.2.(C) Contours are the lines equal height from Mean sea level
are which drawn joining places having.

m%mmwwwﬁwmmﬁw#@aﬁ@@ﬁﬁ
[

Q.3.(D) Soil formed by leaching and oxidation is known as laterite
soil.

freme iR araeftevor grRT i ger aevrge g &t 21

Q.4.(C) Bass strait separates Australia and Tasmania.
9 STAdSHHS P T HAT &
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Q.5.(D) In plant -water relationships, symbol Y is used to represent
water poten.tia!l.

ISy ST gat Y Uddle &1 WanT oid faHa g4 & fore far sman g1
Q.6.(A) A molecule in plants comparable to hemoglobin in animals

is Chlorophyll.
yga # SreifaT & e oY # seRifea o g 21

Q.7.(D) An antigen is the opposite of antibody.
wfeer wfereft & faadia gar 21

Q.8.(A) Blood does not coagulate inside the body due to the
presence of heparin.
IR B Wit & FRU IR F WaR o e T8 71

Q.'9.(C) leech is an ectoparasite of cattle which is carnivorous.

i wafkml R Afgvelt aTer welid gar g1

Q.10.(C) The mammalian heart have four chambers.

IR PIYI A W TS g1 2

(A) Goods and services less depreciation

(B) Goods and services less cost of intermediate goods and services
(C) Output at factor cost

(D) Output at market prices

u.1. geu-aftfa &1 o frad geu @ 8-

(A) ATE 3R T3l Td YeueTd o7 3R

(B) AT 3R Ia137 Td Hegad! Arel 3R Jaraif o} T BT 3R

(C) PRP ANTd R IUIG

(D) TR P! IR I

Q.2. The difference between GNP and NNP equals
(A) Transfer payments (B) Depreciation

(C) Corporate profits (D) Personal taxes

U-2. GNP 3R NNP & o9 3iaR fad srTar gt 37

(A) ST TTAH (B) FeETH

(C) PTURE Y (D) AT H

Q.3. Who decides a ‘bill’ is a money bill?

(A) Chairman of Rajya Sabha (B) President

(C) Prime Minister (D) Speaker of Lok Sabha

¥.3. 9% S vig owar @ 7% e Rdas «= {das 82

Yashshree competition zone Nagpur

e
(A) T THT T JYIFT  (B) IImufd
(C) UUEA (D) T TUT &7 Sregy

Q.4. Which of the following countries is regarded as the home of
‘Fabian Socialism’?

(A) France (B) Italy

(C) Russia (D) England

%.4. Frafafaa & @ fow 3z &) " Bivw auTeEre’ &1 9 9 = ST
?

(A) T8 (B) el

(©)F" (D) IS

Q.5. Stagflation refers to a situation which is characterized by
(A) Inflation and rising employment

(B) Inflation and rising unemployment

(C) Stagnant employment and deflation

(D) Deflation and rising unemployment

W.5. Wifd @ Heae iRty Ut fRAfY 8 Rraer sifiraaror 2-
(A) FERGITA SR ASTIR g

(B) SR 3R SRISATRY T

(C) AR & TRy 3R SO ifey

(D) TTBIfY 3R IRISRT g1

Q.6. The demand for necessities is

(A) Inelastic (B) Perfectly elastic

(C) Elastic (D) Perfectly inelastic

W.6. ATIAHATS BT AT H gl 32

(A) AT (B) IR ORE AEA

(C) 3fefrer i (D) T ke ey

Q.7. The balance of payments of a country is in equibrium when
the

(A) Demand for the domestic currency is the highest
(B) Demand for the domestic currency is the lowest

(C) Demand as well as supply of the domestic currency are the
highest

(D) Demand for the domestic currency is equal to its supply
U.7. f<t 39 BT YA AT IR | 9 ghaT 87

(A) STS TR g1 B AT Faife gt &

(B) & OR H&T $I AT Gad HH gl &

(C) SIS TR &1 $ AT 3R 3gfef ot waffere g &
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(D) S TR HST B AT I MU S sR1eR gl @

Q.8. For which tax, was constitutional status given much later
after its introduction in a small way in 1994-95?

(A) Taxes on Services (B) Income Tax
(C) Customs Duty (D) Corporation Tax

u.8. fFd & B 1994.95 H B U § GN] $I & Igd Y 91
gifaur e gut faar man

(A) Q13 R B (B) 3T R
(C) ST Yo (D) HIURIA Yeh

Q.9. The first Sultan who requested and obtained letters of
investiture from the Caliph (Khalifa) was

(A) Firuz Tughlug (B) Alauddin Khilji
(C) Illtutmish (D) Balban

¥.9. @ewT A UfagTa= o 9 3R 9T B aret WyH ged
P UT?

(A) TS e (B) SreTSE Raerit

(C) TG (D) FeTaT

Q.10. The Buddhist monk who spread Buddhism in Tibet was
(A) Asanga (B) Padmasambhava

(C) Nagarjuna (D) Ananda

¥.10. forssa § dtg o &1 AR B39 arat dtg Py B &7
(A) 3T (B) USIEHHT

(C) AT (D) 3fg

ANSWERS:

Q.1. (D) Value-added means value of output at market prices.

g gifd &1 3ref IR Pl WR I S Iou I g

Q.2. (B) The difference between GNP and NNP is equal to
depreciation.

T gftfa &1 31 IR Pl R I S Jou 9 g

Q.3. (D) The speaker of Lok sabha decides a bill is a money bill.
e GUT T feef ot ova 8 o oe faduss u= fadas

Q.4. (B) Italy is regarded as home of ‘Fabian Socialism’.
' JHTSIATE’ BT TR HFT ST B

Q.5. (B) Stagflation refers to an increase in inflation accompanied by
decrease in real output and employment.

gerwifaed Hel &7 orf aRafds Iare SR AR # fiRTae & @y
erepifa & S 1
Q.6. (A) The; demgnd for necessities is inelastic.

ITIHATS B AFT FaER Bt 2

Yashshree competition zone Nagpur

1) s 11

a

Q.7. (D) The balance of payments of a country is in equilibrium when
the demand for the domestic currency is equal to its supply.

T3t =1 BT YA R a1 § g7 § 1 5 TR G& BT AN 3D
3gf & SRR gt B

Q.8. (A) For taxes on Services was constitutional status given much
later its introduction in a small way in 1994- 95.

JaTsff TR PR BT 1994695 T BIC U H AN I & 9gd 949 I
ey ol fam mam i

Q.9. (C) The first sultan who requested and obtains letters of
investiture from the ca_liph was Iltutmish.

Y YISO U A 3R UT B a1 U Jod Sedd g ol

Q.10. (B) The Buddhist monk who spread Buddhism in Tibet was
Padmasambhava.

fasad & dig o &7 TR A a1d s g Terivg 91

Set:-4

Q.1. Value-added means value of

(A) Goods and services less depreciation

(B) Goods and services less cost of intermediate goods and services
(C) Output at factor cost

(D) Output at market prices

W.1. geg-aftfa &1 o frad geu @ 8-
(A) AT 3R Fa13f T TeeTd &7 3R
(B) HTT 3R Jaraff U Hexrad AT 3R JaT3f H1 AT BT 3R

(C) PRSP AN TR IdTG
(D) VIR PHdl TR IadTed

Q.2. The difference between GNP and NNP equals
(A) Transfer payments (B) Depreciation

(C) Corporate profits (D) Personal taxes

U-2. GNP 3N NNP & o9 3R fhad SRTaR g1 82

(A) SIRUT 3TTAM  (B) eI

(C) ®TaRe @Y (D) afadiTd B

Q.3. Who decides a ‘bill’ is a money bill?

(A) Chairman of Rajya Sabha

(B) President (C) Prime Minister

(D) Speaker of Lok Sabha

U.3. Ug B f4vig owar 8 7% omge dys v s 82

(A) T THT T JHTIFT
(B) Trgufd

(C) g

(D) WIS THT BT 3[eef

Q.4. Which of the following countries is regarded as the home of
‘Fabian Socialism’?
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(A) France (B) Italy

(C) Russia (D) England

3.4. Frafafaa d @ fra 3z & biygs gursEre &1 @R 9= 9w
?

(A) T4 (B) Fecit

()" (D) IS

Q.5. Stagflation refers to a situation which is characterized by
(A) Inflation and rising employment

(B) Inflation and rising unemployment

(C) Stagnant employment and deflation

(D) Deflation and rising unemployment
W.5. Wifa @ Haw Thoxry Tt fRufa & e siftraamn g-
(A) TIPSR AR ST

(B) HETEpIfA 3R SRISHIRY g1

(C) ISR H 7RIy 3R Srqmifar

(D) ATTHIfY 3R SRR g1

Q.6. The demand for necessities is
(A) Inelastic

(B) Perfectly elastic (C) Elastic

(D) Perfectly inelastic

U.6. ATaRaFHarait 1 AT H Fef 32
(A) ST (B) T ARE At

(C) sreftaria (D) Tt TXE sreara

Q.7. The balance of payments of a country is in equibrium when
the

(A) Demand for the domestic currency is the highest
(B) Demand for the domestic currency is the lowest

(C) Demand as well as supply of the domestic currency are the
highest

(D) Demand for the domestic currency is equal to its supply

¥.7. 5 39 BT YTa AT ArETEaRS | 9 giaT 87

(A) STe TR q&T 1 AT Faifis g 8

(B) ST& ORI $1 HITT Yo HH gl ©

(C) STa TR, {1 b AT 3R omyfef o waffere gen @

(D) W1 TR T B AT ST YRS F kIR et}

Q.8. For which tax, was constitutional status given much later

after its introduction in a small way in 1994-95?

Yashshree competition zone Nagpur

1§ e 1}
(A) Taxes on Services (B) Income Tax
(C) Customs Duty (D) Corporation Tax

7.8, fFd &Y B 1994.95 H B U A AN HI1 & ggd YWY 915
gifaur e gt faar man

(A) Q13 TR B (B) 3T IR
(C) YT Yo (D) HIURRA Yedh

Q.9. The first Sultan who requested and obtained letters of
investiture from the Caliph (Khalifa) was

(A) Firuz Tughlug (B) Alauddin Khilji
(C) Iltutmish (D) Balban

U.9. WATET @ UFASTTT 0 AT SR T == 1T UUH e
P AUT?

(A) ForIs T () SremSer faersit

(C) SeqAr (D) T

Q.10. The Buddhist monk who spread Buddhism in Tibet was
(A) Asanga (B) Padmasambhava

(C) Nagarjuna (D) Ananda

¥.10. forega ¥ dt odf &1 AR B3 9@ A g s 8
(A) 3T (B) TSRIWG  (C) AT

(D) 3fHg

ANSWERS:

Q.1. (D) Value-added means.value of output at market prices.
o B7 37 IR FIFa W IdTeA & g I 8

Q.2. (B) The difference between GNP and NNP is equal to
depreciation.

U aftfd o1 31 SO BIAdT TR IdTe & 4ed g

Q.3. (D) The speaker of Lok sabha decides a bill is a money bill.
e THT BT femet Fofa Frar 8 1 o 3 o= fadas g

Q.4. (B) Italy is regarded as home of ‘Fabian Socialism’.
FI Tiag- FESIaE’ 18R H ol g |

Q.5. (B) Stagflation refers to an increase in inflation accompanied by
decrease in real output and employment.

R ifaid Het &1 orf aRafds Iare SR IR | fRTae & 9y
el # 32 1

Q.6. (A) Thg demand for necessities is inelastic.

SHTaEH TSN B AR SAFER g gl

Q.7. (D) The balance of payments of a country is in equilibrium when
the demand for the domestic currency is equal to its supply.

ot =1 BT YA AW JrmaedT | giaT 81 SIS TR Hel b1 HA STB
3yfef & SRR g 7

Q.8. (A) For taxes on Services was constitutional status given much
later its introduction in a small way in 1994- 95.

Ja13 TR IR BT 1994695 T B¢ U & AN S & §gd 99T 91
e et feam mam ATl
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Q.9. (C) The first sultan who requested and obtains letters of
investiture from the ca}iph was Iltutmish.

F UfISTO U AR 3R T B T U Jed S o ATl

Q.10. (B) The Buddhist monk who spread Buddhism in Tibet was
Padmasambhava.

fasad & A ot &1 TR B4 a1d s g TeRiva A

Q.1. Which bacterial strain developed from natural isolates by
genetic manipulations can be used for treating oil spills?

(A) Clostridium (B) Nitrosomonas
(C) Pseudomonas (D) Agrobacterium

U.1. 99 foerTa & Me & U srgariie eXwR gR1 uSpfae
3Tgadel A ST 5w Sitary] g &1 yahT faar o Jahar 82

(A) ST (B)TASEIRaH

() FRFETH (D) AT

Q.2. Who is the author of the book “No full stops in India?
(A) Nirad C. Choudhuri (B) Mark Tully

(C) R.K. Narayan (D) Ved Mehta

¥.2. 7l A wTH 39 380 (9w & aws o4 87

(A) FRe 9. At (B) AT <t
(C) 3R. & ARMU (D) I Hgdl

Q.3. Which one of the following pairs is wrongly matched?

Place Location
(A) Tiananmen Square - Beijing

(B) Tahrir Square - Abu Dhabi

(C) Trafalgar Square - London
(D) Red Square - Moscow

w.3. Frafif@a § & o9 a1 g o fa 78 @@ 2|

I afufa

Q.4. The term of a non-permanent member of the U.N.Security
Council is

(A) 1 year
(B) 2 year
(C) 3 year
(D) 6 months

Yashshree competition zone Nagpur

1) s 11

a

g%;wwav&nm%mmﬂmaﬁmmm
?

w13 B)2ad (€)33¥ (D)6 HE

Q.5. Who is the Chairman of the 20th Law Commission?

(A) Justice K.G. Balakrishnan
(B) Justice D.K. Jain
(C) Justice Usha Mehra

(D) Justice J.S. Verma

U.5. 20 9 faftr 3T 371 Sremer A 22

(A) TrHfd &. <ff. STapwH
(B) mmqﬁfe“r.asﬁ?;

(C) = S

(D) =TI o.T9- gaf

Q.6. Julia Gillard is the Prime Minister of
(A) Canada (B) Australia
(C) New Zealand (D) Belgium

W.6. Sferar frare wgt & wur=EE 87
(A) BST  (B) SRS
(C) geiiefe (D) Safor™

Q.7. Which is the first state in India to pass the Food Security
Law?

(A) Chhattisgarh (B) Gujarat

(C) Punjab (D) Kerala

U.7. YIRd BT 98 S 01 359 & o gad ugd @rey JRem A
Tifea far?

(A) BTG (B) ORI

(C) U (D) HRA

Q.8. Who among the following Presidents of MCC was a non-
professional cricket?

(A) Peter May (B) Christopher Martin Jenkins
(C) Ted Dexter (D) Colin Cowdrey
u.8. . 3.3 & Fufafaa srael § @ $19 IRaR frdrex 78t un

(A TR A (B) fiwR wifdT S
(C) TS SRR (D) HIfeH HT3g

Q.9. Who won the Nobel Prize for peace in 2012?

(A) International Atomic Energy Agency
(B) Liu Xiabo (C) European Union
(D) U.N. Intergovernmental Panel on Climate Change

7.9. a¥ 2012 ® ifa &1 Nead RTeeR 5 frar-
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(A) IRIFTT T=AT] St Toidt
(8) fors Rram&t () Riftg= ¥w
(D) 4, T. SeTa-Hed U9d 31 Faighe I

Q.10. Who won the Jnanpith Award for 2011 ?

(A) Sachidananda Routray

(B) Pratibha Ray
(C) Gopinath Mohanty
(D) Sitakant mahapatra

¥.10. g 2011 &1 WS R¥BR fFa e

(A) TfdeHe IS (B) UfauT
(C) MY BEell (D) HidTehid HETUH

ANSWERS :

Q.1.(C) Nitrosomonas bacteria strain, developed from natural
isolates by genetic manipulations, can be used for treating oil
spills.

3R BXR A UpTach SMgdidey A RpRid AgeIgm= sharurd
qra, ad g & M & fou s far o g

Q.2.(B) Mark Tully is the author of the book 'No Full Stops in
India’.

o1 gl ) ol T 37 A g $ A B
Q.3.(B) Tahrir Square---Cairo , Egypt .
TERR W - P - i

Q.4.(B) The term of a non-permanent member of the U.N. Security
Council is 2 years.

Tga Y TR& ulug H U SR Yaw &1 999 2 9 g

Q.5.(B) Union Government of India on 7 January 2012 appointed
Justice D.K. Jain as Chairman of the 20th Law Commission of
India.

YR Bt T9 TWHR A 7 ST 2012 BT HRI & 209 fafy 3mavm & sreaer
& FuH &, 39 F Frgaa fear mar an

Q.6.(C) Julia Gillard is the Prime Minister of Australia.

Sferan firaTe S & e 2

Q.7.(A) The Chhattisgarh government has taken the initiative to
pass the first Food Security Act in the country.The Chhattisgarh is
the first state in india to pass the food security law

BTG WHR A YU W R T yRa & uifiad fear 71

Yashshree competition zone Nagpur

1) s 11

a

m@?ﬁ@ﬁéﬂﬂﬂ?@%ﬁéﬂﬁ%ﬁﬂ@%ﬁ@ﬁﬁ?&ﬂ%ﬂﬁﬁ
|

Q.8.(A) Peter May, president of mcc was a non-professional
cricketer.

.. & sy dex T g iie fhdex 91

Q.9.(C) European Union won the Nobel Prize for peace in 2012.

R g 3 79 2012 F Wi &7 A9d REBR Sfiar o7l
Q.10.(B) Pratibha Ray Won the Jnanpith Award for 2011.
IR I 7 99 2011 BT JHUG QSR Sidl |

-—w

Q.1. Which one of the following statements is not true in respect
of A.O. Hume?

(A) He founded the Indian National Congress.
(B) He presided over the congress Annual Sessions twice.
(C) He was an Ornithologist

(D) He was a member of the Indian Civil Service

U.1. T3 ggH & Wy ¥ Frafafee & @ $9-a1 w1 wd 98 82
(A) ST YR TETT HIUT DT RITIAT B |

(B) 391 BT & aIfics T B! €T IR 3fegerd P

(C) 98 SHf-fenfore ut

(D) 98 HRdg Rufqd da1 &1 Je= Tl

Q.2. Division of Powers and Independent Judiciary are the two
important features of

(A) Democratic form of Government

(B) Federal form of Government

(C) Socialist form of Government

(D) Unitary from of Government

wifFaal 7 fAUTe iR Tad ATt fPae®! g Ayt
g 32

(A) RBR FT AHdiESG 7Y
(B) TRHR &I T &Y

(C) WHR FHT JHISATE! WEY
(D) WHR &1 THTHS WY
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Q.3. Which Article of the Indian Constitution did Dr. B.R.
Ambedkar term as the “Heart and Soul of the Indian
Constitution”?

(A) Article 356
(B) Article 32
(C) Article 14
(D) Article 19

YR TfIu™ & 5 g 3 ST, d1-3R FdeHT 7 “URdT
TfquT™ &1 geu 3R T BHI?

(A) TG 356

(B) 3T=E 32

(C) 3¢ 14

(D) 3rT=a19

Q.4. Who was the first to use the term ‘State’?
(A) Aristotle

(B) Machiavelli

(C) Hobbes

(D) Plato

I5Y Ug BT YURT JA9YH fraq frar?
(A) 3R¥T  (B) Aframaett

(C)ETs9 (D) Wl

Q.5. Which river in India flows in a rift-valley?

(A) Narmada (B) Krishna

(C) Cauvery (D) Tapti

YR & S A 7 fay=r adt & g 21

(A) e (B) PT

()P (D) aTdt

Q.6. A narrow strip of land that connect two larger land masses is
called

(A) Cape (B) Isthmus

(C) Strait

(D)Peninsula

S 9 Y- TYEI B Sirs arell TPl - ULt H R Bed 32
(A) 3 (1)

(B) Y-HlY (RIASHET)

(C) SITSHEHYS

(D) Uragy

Q.7. Tiny marine animals which constitute limestone skeletons are
called

Yashshree competition zone Nagpur

1) s 11

a

(A) Coral
(B) Diatoms
(C) Clamitomonous

(D)Foraminifera
TAT- TR F o1 T9F a1 Bie- BIe Yt oiial &1 71 Hgd 82

(A HMIEH  (B) SHTH
(C) TAFEHAY (D) BRIHHAHRT

Q.8. Apatanis are the major tribal group of ?
(A) Sikkim  (B) Arunachal Pradesh

(C) Jharkhand (D) Nagaland

SYTa HET BT GBI AT THE 872
(A RIfdsa (B) S=UMEE Tew

(C) ¥RTE (D) AT

Q.9. Which of the following plant pigments absorbs in red and far -
red region of light

(A) Phytochrome (B) Cryptochrome

(C) Carotenoids (D) Chlorophyll

fFrafafEa & @ 19 -9 ey I a1a U9 g -a1d JbTr a7 F
SaT g oirar 87

(A) BTeIhH
(B) fororpIa

(CERURES
(D) FARIE

Q.10. The process through which excess of light energy is
developed in photosynthesis is known as

(A) Photolysis

(B) Photophosphorylation
(C) Quenching
(D) Scavenging

fora ufsrar # wrenw A sifafia ueTr Solf yeTwr Ixawor § fya=T
STl @ 39 Uihdr &1 |1 FEd 87
(A) UBIRIE - 3q8e

(B) UeHTRT THRUT
(C) THT (D) AYHATSIA

ANSWERS :

Q.1. (B) A.O. Hume (6 June 1829 - 31 July 1912) was a civil
servant, political reformer and amateur ornithologist (Ornithology
is a branch of zoology which deals with the study of Birds.) and

9960368556



horticulturalist in British India. He was one of the founders of the
Indian National Congress, a political party that was later to lead
the Indian independence movement. A notable ornithologist, Hume
has been called "the Father of Indian Ornithology” and, by those
who found him dogmatic, "the Pope of Indian ornithology."”

T30, 8gH (6 T 1829 . 31 JATS 1912) Ueh ARG Ja1 & 3, Ierifaeds
YRS 3R U ARAAARRE (SR=idioh T s fage &t Imar @
forgd fRafsal o1 srerga fear oan ) oiR fafew o & we
BITheaRE U1 98 T SHITAP Gol YR AP ST & RIS &,
S YR AT Sfiaia &1 Aqad dxar At ezl sifvearfore

TIA YRS si=iaifore & frar ok 3% «uRdia si=ieifore &1 9
1t T ST B 1

Q.2. (A) Division of Powers and Independent Judiciary are the two
important features of democratic form of government.

YoITdE® WBR B! Heaqul < [IRvar e &1 gyaehRor 3R Wad
e g1

Q.3. (B) Article 32 of the Indian Constitution did Dr.BR Ambedkar
term as the "Heart and Soul of the Indian Constitution".

YR WAYM & swe 32 &I 81, HIIRIg sidedHr 7 URd™ e
P AT 3R gah) FET Tl

Q.4. (D) Plato was the first to use the term “State”.
el A Uyl §R (I159) Xeq 1 YANT foar T

Q.5. (A) Narmada is the only river in India that flows in a rift
valley, flowing west between the Satpura and Vindhya ranges. The
Tapti River and Mahi River also flow through rift valleys, but
between different ranges.

Faq THar 7 Roe a1ét § 5t 8 IR ufdm &t 3R IaysT ok fder
9uft & gt 81 Tl IR Treh Afeat of feoe areh & wgdt 81 afess i
oy 7|

Q.6. (B) A strip of land that connects two large masses of land is
called an isthmus. There is usually a water body that is relatively
large on each side of the land mass. Normally, canals are dug
through the isthmus.

T Yfi BT I S &) 9 4t & et Y ST 81 39 TREY $Ed g
JAM: T T S fivs 81 s yfty R & ude Re o9 Rwl 9
TR 81 WH: SREY § Tex} BT HAi0 gar g

Q.7. (A) Coral reefs are massive structures made of limestone
deposited by living things. Although thousands of species inhabit
coral reefs, only a fraction produces the limestone that builds the
reef. The most important reef-building organisms are the corals.

yara Pfera ot 92t SR &1 fafor Shfad axgsit gR1 g1 TR &
THATH A il & | TAf BRI STl SR G A W@ g1 dad g
TR & TR &1 IaTeH varal &1 el st 81 31w mgayf Jw
St &1 fmfor eRa g

Q.8. (B) The Apatani, or Tanii, are a tribal group of people living in
the ziro valley in the Lower Subansiri district of Arunachal Pradesh
in India.

ST T =it Teh ST THE & S HRA | R0 Ue™ & fera

Yashshree competition zone Nagpur
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FIRA R & ok o) 7 e

Q.9. (A) Phytochrome is a photoreceptor, a pigment that plants
use to detect light.

hT3clshIH U BICINAPR &1 Ue fne, f58 Uie Ut &1 Udl 31 &
fora v f5aT ST 81 Q. 10. (C) During periods of excess light,
absorbed energy is dissipated harmlessly as heat to protect the
leaves from photo-damage, a process, known as non-
photochemical quenching.

3P YHT & JAT P faa|

Set:-7
Q.1. The chairman of the Rajya Sabha is-
(A) Appointed by the president

(B) The Vice-President who is ex-officio chairman
(C) Elected by the Parliament

(D) Elected by the members of the council of states

U.1. IY YT BT A& -

() Igufd gRT Fgad far s &

(B) IIRTYUT U fedes Eiem &

(C) T9e grI Fraffd grar @

(D) 1T THT & Fel gRT Fafferd g @

Q.2. The Aam Aadmi Bima Yojana was launched on-

(A) 2nd October, 2007
(B) 15th August, 2007
(C) 15th January, 2008
(D) 15th March, 2009

Y.2. 3ATH 3reHI AT gre=T &) aReH faT -

(A) 2 TR, 2007 BT
(B) 15 3T, 2007 &I
(C) 15 STasY, 2008 I
(D) 15 A, 2009 H

Q.3. The maximum quantity of the element in human body is-

(A) Calcium (B) Sodium
(C) Iron (D) Phosphorous

U.3. |14 IR & 3IRread AT § UrT W arel dd gidl 8.

(A) Sfrrm (B) GifgaH
(C)dIE (D) BIEARY

Q.4. Which of the following states of India has the largest total

length of state Highways?

(A) Maharashtra (B) Rajasthan
(C) Gujarat (D) Uttar Pradesh

U.4. HRd & =9 Isa) & @ o) vty a9t 1 god awrs
I9q P 87

9960368556



(A) TERTE  (B) JoIRIM
(C) ORI (D) TR U™

Q.5. Right to property according to constitution of India is a-

(A) Fundamental Rights

(B) Directive Principles of State
(C) Legal Right

(D) Social Right

U.5. YRd & WU & IR iy o1 it 8-

(A) Hifere SfrpR

(B) IsT & g Fdwe g
(C) B ABR

(D) I 3IfIFR

Q.6. Which zone is the largest in Indian Railways?

(A) Central Railway (B) Northern Railway
(C) Eastern Railway (D) Western Railway

U.6. YR Yod & @ I81 SIH-91 &F &2
(A) & Xad

(B) SWI@A (C) Id Yo d
(D) Ufgm

Q.7. As per the recent list published by the Forbes, who among the
following has been declared the richest cricketer in the world for
the third year running?

(A) Graeme Craig Smith

(B) Mahendra Singh Dhoni

(C) Virat Kohli

(D) Alastair Cook

U.7. BIsE gRT YPI1RId gTd 31 N & IR ud 3¢ R a9 &
?mﬁamﬁaﬁmmmmmw
?
(A) T o7 TRy
(B) He'% g eIt
(C) faxTe Frgeh
(D) TR b
Q.8. The air exercise “Garuda-V” concluded successfully, recently.
India conducted this exercise with which of the following

countries?

(A) Germany (B) France
(C) US (D) Israel

¥.8. 91 3R "S-V’ 8T € #, Whadiqd® Tud goil URd =
frafafaa 3ot & @ 9 Ty 59 a9 F1 e fear an

(A) ST (B) I

(C) 3mfRk®T (D) SoRTTA

Q.9. Bhartiya Mahila Bank started with the initial capital of

Yashshree competition zone Nagpur

1) s 11

(A) Rs. 500 crore (B) Rs. 1000 crore

(C) Rs. 1500 crore (D) Rs. 2000 crore

*g%%u‘mml
(A) 500 FIS F. (B) 1000 TS ¥F.

(C) 1500 FRIS =. (D) 2000 TRIS ¥=.

Q.10. Indian player Saurav Ghosal won Dato Alex Lee Award 2013.
He is a

(A) Badminton Player (B) Squash Player
(C) Tennis Player (D) Golf Player

¥.10. YR et TRY NuTd 3 gral Taa o REPR 2013
i I L H

(A) SSfife Raeret (B) W1 Raerst
(€) g RaarSt (D) Mew f@amet

ANSWERS:

Q.1. (B) Vice-president of India is ex-officio chairman of the Rajya
Sabha.
YR BT SURTYUTS Ao FHT BT U JUTIf g 2|

Q.2. (A) Aam Aadmi Bima Yojana was launched on 2nd october,
2007.
3T 3TEH! JTAT AT & URWY 2 fFgaR, 2007 1 foar a7 T

Q.3. (A) The maximum quantity of the element present in human
body is calcium.

A YRR H 3iftread 9 § urm S aTel dd $iekaH gl 8l

Q.4. (D) Uttar Pradesh has the largest total length of state
highways.
YR & IR US IT B U JISTHFT B} Tohdl TS Jad e 1

Q.5. (C) Right to property according to constitution of India is a
legal right.

YR & AU & IR, TR &7 fABR HTHT SRR 71
Q.6. (C) Northern Railway Zone is the largest of Indian Railways.
HRTT Yo B g 8T IR Yad & 2

Q.7. (B) As per the recent list published by the Forbes, Mahendra
Singh Dhoni has been declared the richest cricketer in the world
for the third year running.

B GRT UHIRId 8Tel b1 el b SIHR °al I8 d1ER N & 7Y 7Rg
e o=t &1 fay & T8 3R fpdhex Wit fear mn 81

Q.8. (B) Ipdia conducted the exercise “Garuda-V” with France.
YR = 1Y & 1Y 31 "TReS-V’ BT TS BT o7

Q.9. (B) Bhartiya Mahila Bank started with the initial capital of
Rs.1000 crore rupees. Its headquarter is in New Delhi.

YR AT §F 1000 PRI 0 Bt YRS Yoit & Iy = fowar man
ATl 3T GBI 8 foeet & 1
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Q.10. (B) Saurav Ghosal was selected for the award by the Asian
Squash Federation (ASF) for being the Outstanding Asian Men’s
Player of the Year 2013.

TRY TS BT 99 TRIATS WY HeT9Y (TTHTH) = 99 2013 H Jad
3=y TS &y fyars! & forg favar um

vy

Q.1. Which oil field is not present in Assam?

(A) Lakhimpur
(B) Naharkatia
(C) Dibrugarh

(D) Mala

W1, SI-I1 a7 &7 3w & fRa 1Lt 82
(A) TEHYR (B)TERP el

() f&sgmg (D) A

Q.2. Which is not matched correctly?
A) Chittaranjan - Locomotive

B) Kanpur - Leather goods

C) Nangal - Silk
D) Pimpri - Pencillin factory

w.2. Frafafea & @ o1 ad gafta 7t &2

(A) e - aemifes
(B) FTGR - IHS HT YHHF

(C) AFTa - Ryew
(D) fort - ofaffem R

Q.3. Which of the following sea port is not located in East Coast Side?
(A) Paradeep (B) Ennore

(C) Chennai (D) Tuticorin

w.3. FrafafEa & & o1 1 s<wme gdf agsf 9 w R =78 3

(A)URTET  (B)TAR
(©) I (D) TABINRA

Q.4. Which of the following has won the World Blitz Championship that
concluded in Dubai?

(A) Magnus Carlsen

(B) Viswanathan Anand
(

(

C) lan Nepomniachtchi
D) Nakamura

U.4. 9% ¥ T g1 areht fay fRrew =g fom & @ feaa ot 82
(AT BTt (B)fIyeyT eme
(C) 3T AUt (D) ATHTHRT

Q.5. Who is the head of the Committee to review Governance of Boards
of Banks in India?

(A) Urjit Patel (B) Anand Sinha
(C) P.J. Nayak (D) G.S. Patel
U.5. URd & 9%t & 918 & - o1 wilten & fag wfifa & uge i 82

Yashshree competition zone Nagpur

W3IFT T (B)3me T
(C) M., A& (D) Sh.Ty. ueq

Q.6. Which of the following films got the Best Feature Film award in
the 61st national film awards?

(A) Shahid (B) Liar’s Dice
(C) Ship of Theseus (D) Rangbhoomi

7.6. Frafafea fret & @ 5 613 Wiy fren ReoRt & 9498 W
fiper &1 RE@R Sfiar 87

(MRS (B)TT ST

(C) g o ff¥erd (D) TIyfH

Q.7. Recently who won the Santosh Trophy 2014?
(A) Odisha (B) Services

(C) Railways (D) Mizoram

u.7. gTa € ¥ fHaa Yaiy eTwt 2014 Sidl?
(A)3nfE=m  (B)FfdAw

©)¥da (D) foeiRw

Q.8. Recently RBI extended the timeline for full implementation of
Basel Ill norms to ___ _instead of 31 March 2018.

(A) 31 March 2020 (B) 31 March 2021
(C) 31 March 2019 (D) 31 March 2022

¥.8. g9 €1 & Uty frord 8% 3 39a g Ares! & quf srafaad &
?qw;ﬁmaﬁamﬁzms%m ....................... % Ter four
I

(A)31 T 2020  (B)31 TTH 2021

(C) 31 AEf 2019 (D) 31 HTE 2022

Q.9. Recently noted Hindi poet Kedarnath Singh was chosen for the
prestigious Jnanpith award for 2013. He is the __ __Hindi writer
to receive the honour.

(A) 11th (B) 13th

(C) 10t (D) 14th

u.9. gTa € # faerd iR=t & o er1y Rig ot adf 2013 & g
ufafa ydie ReR & R g1 741 UT1 3 59 REPR ST 0w B3
11 T R TATPR 2

@)1d  (B)13d
(€) 108 (D) 143

Q.10. What is the rank of India on the Global Peace Index 2014
released by the Institute for Economics and Peace in London?

(A) 100t (B) 143rd
(C) 140t (D) 150th

¥.10. deq # e ok wifa & fore S=um g1 o™ wilaw fiw 53w
2014 ® YRE BT TITH §T1 87

(A)100 @i (B)143di

(C) 14097 (D) 1504i
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ANSWERS:-

Q.1. (D) Oil field of Mala is present in Gujarat.
TTAT A & oRTd § U g1

Q.2. (C) Town Industy

Nagal Fertilisers

Mysore Silk

TEI I AT Fab
Rew

Q.3. (B)
Sea port State Sea Coast line
Paradeep Orissa Bay of Bengal East
Ennore Maharastra Arabian sea West
Chennai Tamil Nadu Bay of Bengal East
Tuticorin Tamil Nadu Indian Ocean East
Tt I IS e ¥ar
UREY IS St gdf
R WERIY  3Rd 9RR qfam

EEH dfremrg STa FtErst gdf
Tea  dfeg R merR g

Q.4. (A) Magnus Carlsen scripted history by winning the World Blitz
Championship that concluded in Dubai.

gus § gwF g arelt fay ffes Aftmmfe siaer f-e srdad 3 sfogr
Eeifl

Q.5. (C) The committee to review Governance of Boards of Banks in
India submitted its report to Reserve Bank of India (RBI). The
committee was constituted under the Chairmanship of P.J. Nayak. He is
a former Chairman and CEO of Axis Bank.

URA H BT & aS & AT B gHten & g afyfy 3 urdr fod 9@
(3MRE3MTE) Y 3ot A v 1 IAfifa 6.9, T/aE &1 sremerar § wied &t
Tt 13 T S & g sremer SR Hisan €1

Q.6. (C) Non Feature Film: Rangbhoomi (Hindi)
Best Feature Film: Ship of Theseus

Best Actor: Raj Kumar (Shahid, Hindi) & Suraj Venjaramoodu
(Perariyathavar, Malyalam)

Best Actress: Geetanjali Thapa (Liar’s Dice, Hindi)
R R e Tmyfty (=)
F498 wiR e R amw e
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- 1§ =ref
o
e

JII AT IS FER (MRS, Bl iR IR ITORMG (RRITYAR,
HeraTerd)
gd9y siftmt: Marefer urar (@ s1g9, &)

Q.7. (D) Mizoram defeated Railways 3-0 in a one-sided final of the 68th
National Football Championship to win the Santosh Trophy.

eI 3 Ay el Sian & o 689 TtT Geare IR & THaRwT
BIeAd B YAd & 3-0 9 wRIfod fosar|

Q.8. (C)
Q.9. (C) Noted Hindi poet Kedarnath Singh was chosen for the

prestigious Jnanpith award for 2013. He is the 10th Hindi writer to
receive the honour and is the 49th recipient of Jnanpith award.

71 81 § foed et & &fd Faramy Rig 31 ¥ 2013 & fow wfaf¥a s=ds
RER & Forg =1 72 oT| e g1 7 o7 Sery Rig 39 (@R @ U
P aTd fg=t & 108 [WIHR 3R 498 JHNS REBR F Weddhd! 8 |

Q.10. (B) The GPl 2014 measured peace for 162 countries on the basis
of 22 indicators.

Among these 162 countries, India has been ranked 143rd. In GPI 2013,
India was ranked 141st.

SYeS 2014 7 22 Thdd! & MYR W 162 < & forw wife At

37 162 2 A HRA B 1439 W @1 T 21 Shdams 2013 F HRA 1419
TYF TR YT

Q1. How many spokes are there in the Ashoka Wheel of the Indian
National Flag?

(A) 24 (B) 23
(C) 22 (D) 18

Q1. MR YT & & 3N 9w | fpa diferat gidt 87
(A) 24 (B) 23 (C)22 (D) 18

Q2.Who was the first Governor General of free India?

(A) C Rajagopalachari

(B) Lord Mountbatten

(C) Rajendra Prasad

(D) Sardar Vallabhai Patel

Q2. WAF WRA ¥ TgA AR ST P14 UT?

(A) 3 EUTEER (8) TS ASese

(C) ISE TS (D) TRER TTAHHTS Ted

Q3. Who was the first Indian Governor General of free India?
(A) C Rajagopalachari (B) Lord Mountbatten

(C) Dr S Radhakrishnan (D) Rajendra Prasad

Q3. WdT HRA P Tgd HRA TR F-RA DI 4T?

(A) W ITSTOTAER (B) @S ATded

(C) ST T AYTHWH (D) ISI% TG

Q4. Which is India’s national animal?

(A) Lion (B) Tiger
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(C) Elephant (D) Cow

Q4. A PT IPT U I A1 87

(A) W (B) TFR

(©) et (D) T

Q5. Which of the following is our National Anthem?

(A) Jana Gana Mana

(B) Vandematharam

(C) Sare Jahanse Achcha

(D) Jhanda Uncha Rahe Hamara

Q5. Frafafea & & #1991 gaRT e T @2

(A) SFTUT T (B) 9 ATRA

(C) IR SIgT / 3BT (D) ST 341 T@ BARI

Q6. Gravitational force is maximum at which of the following place?
(A) At equator (B) At tropic of cancer

(C) At tropic of Capricorn (D) At poles

Q6. FraffEa @ | fFa WH W TEaayu 9a 9ad i 82
(A) YT 3@ R

(B) PH IW W (C) AP IW R
(D) gal &

Q7. Which of the following device is used to measure humidity?
(A) Hydrometer (B) Hygrometer

(C) Psycho Meter (D) Anemometer

g.ﬁmﬁr@ﬁﬁ'ﬁﬁqﬁﬁammaﬂﬁmﬁmﬁ%mﬁmm

(A:) TAUTEATS (B) STyt
(C) FHIGY (D) Ta=ATTHTYY

Q8. Which of the following disease is caused by female Anopheles
mosquito?

(A) Chicken Pox (B) Malaria

(C) Black Fever (D) Cholera

Q8. FrafafEa & / ot W st arar sATwde A F FRO R 37
(A) TS (B) HARAT

(C) BT SR (D) BT

Q9. The cells which are responsible for the production of antibodies
are

(A) Red blood cells (B) Neutrophils
(C) Lymphocytes (D) Platelets
Q9. PINRTPTE &t TeaTS ¥ Iaured & Ry R &

(A) IS Y& HIRIGISN (B) FIbad
(C) RplaTEe (D) Weded

Q10. Which of the following transports water from the roots of the
plant to its leaves?

Yashshree competition zone Nagpur

13 sy

(A) Xylem (B) Phloem
(C) Both xylem and phloem (D) Cortex

Q10. FafafEa & @ $19 1 3 9t @ IuF! Rl a% wd ugarar 82
(A) ST (B) TTEH

(C) ST qUT AIeH gt
(D) T 37YTT TS P TR

ANSWERS :
Q1. (A) Q2. (B) Q3. (A) Q4. (B) Q5. (A) Q6. (D)
Q7. (B) Q8. (B) Q9. (C) Q10. (A)

Set :-10

Q. 1)Which of the following organelles is called Atom bombs?
Microtubules Nucleolus

Golgi bodies Lysosome

frafafad ot & & 19 91 TeH 99 $g1 SaT 87
ONCERIRE

JfFre Ml Fem s

Q.2)The world’s longest river the Nile, flows through which continent?
1) South America 2) Africa

3) North America 4) Europe

P o e st T A 7 e TeTd @ wwdt 2

1) aféror ekt 2) SrpideT

3) I ARBT 4) |

Q.3)Indus water treaty 1960 is an agreement between India and _____
1) Bangladesh 2) Pakistan

3) China 4) Nepal

Riy @ Wi 1960 URA R _____ & & ¢ qwgiiar 21
1) IEARY  2) U

3) I 4) qUTq

Q.4)Who among the following discovered laws of planetary motion?
1) J. Kepler 2) Albert Einstein

3) N. Copernicus 4) Otto Blathy

34 ¥ fPea 781 @t g afa o1 @ 32

1) A PR 2) IeEC AEEA

3) T Hufeg  4) el sameht
Q.5)Who is the author of the book named "Unbreakable"?

1) Mary Kom 2) Ahmed Faraz

3) Vijay Dasda 4) None of these
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Ans - 1

"IANH A" ATHS YEID & AP DI 87
1) AR B 2) 3EHE BRI

3) o erer 4) 378 Q@ SIS

Q.6)What is the shape of the Pacific Ocean?
1) Almost Circular 2) S' shaped

3) Almost Triangular 4) None of these

UM HETHRR $T TSR T 37

1) T URYS  2) T ‘3R BT

3) @ Py 4) 399 9 18 T

Q.7)Alpana is a traditional folk art of which state?

1) Maharashtra 2) West Bengal

3) Karnataka 4) Rajasthan

e fFd 9 B TS URUNS AP Har 82

1) HERTY  2) UMHH S

3) PAlcd  4) ISR

Q.8)A steam engine converts the heat energy of steam into ______
1) Electrical energy

2) Chemical energy

3) Mechanical energy 4) Thermal energy

YT S0 WT P ST S &1 ______ & ufikafda sear gl

1) fagga ool 2) Tmafe S

3) Jife Sol  4) ¥Ha ot

Q.9)How many fundamental rights are there in Indian Constitution?
1)10 2)8

3)6 4)4

YR 3y # fFam qaya sfier §?

110 2)8

3)6 4) 4
Q.10)Our solar system consists of how many planets?

1)8 2)10
3)9 4)7
TR IR Hed & fpax 75 g4 &2
18 2)10

3)9 4)7

ANSWER KEY:-

Q1(4) Q2(Q2) Q3(2) Q4(1) Q5(1)
Q.6(3) Q7(2) Q8(3) Q903
Q.10 (1)
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